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30 HEHAR (H/H) 5/30 7/18 10/24 1/23 O
T IR AR (B 59) 7:00 8:15 6:15 10 ) ¢ B
- O AL E il il it il
o 7K % (m) 3.7 4.4 4.5 3.7
gl B OB ok E /g FJE 7<) =&
N PN 52 E i = =
= H (C) 23.1 32.0 16.3 3.5
ey IS i (C) 23.0 29.2 19.1 10.3
i @, A H%%%@ I iktE | JKEkE | MEsERkE
o I = Mo R M T AR FAR | TAR
H 75 2] o (m) 0.9 1.0 0.9 2.3 1.3
75 5 B (em) > 100 77 57 |> 100 84
17 | A= pH 7.6 6.9 6.8 6.8 7.0
o DO (mg/L) 6.5 6.7 5.3 7.8 6.6
{m BOD (mg/L)] 1.2 2.8 3.1 11 2.1
B COD (mg/L) 7.5 7.4 8.1 8.5 7.9
ENES SS (mg/L) 1 2 1< 1 1
ml® = % (mg/D)]  12.0 7.93 13.2 13.3 11.6
S B (mg/L) 1.79 1.15 1.49 1.64 1.52
o IS i #n (mg/L) 0.04 0.02 0.03 0.03 0.03
K X v A (mg/L)[< 0.001 [< 0.001 [< 0.001 |< 0.001 < 0.001
el &2 ¥ 7 v (mg/L)J< 0.1 |< 0.1 < 0.1 [< 0.1 [ 0.1
153 i) (mg/L) < 0.005 |< 0.005 |< 0.005 [< 0.005 [[< 0.005
Wl A i 7 v a (mg/L)f< 0.02 [< 002 [< 002 [< 002 [[< 0.02
H fitk F  (mg/L) |< 0.005 |< 0.005 [< 0.005 [< 0.005 |[< 0.005
fa 7K $R (mg/L) |< 0.0005[< 0.0005]< 0.0005[< 0.0005/< 0.0005
K i (mg/L) < 0.02 |< 0.02 |< 0.02 [< 0.02 [ 0.02
wol s g M 8k (mg/L) 0.10 0.10 0.07 0.22 0.12
H [TamtE~> 7> (mg/L) 0.02 0.03 0.04 0.05 0.04
H 7 - 2 (mg/L) [< 0.02 |< 0.02 [< 0.02 [< 0.02 |[< 0.02
Ak ¥ A A4~ (mg/L) 481 1290 1070 1430 1068
z MBAS (mg/L) [<  0.02 0.02 0.03 0.03 0.03
ToE=THEHE (mg/L) 0.09 < 0.01 0.04 0.58 0.18
) dAEfRMEZEFE (mg/L) 0.02 0.07 0.25 0.44 0.20
REEAE %2 3 (mg/L) 9.69 6.59 11.7 11.0 9.75
% m % % mg/L| 174 1.12 141 1.50 1.44
B X s 8 R (ogem] 1860 5530 3510 4610 3878
O oK B TE T NE INE
. 7K B (C) 22.8 29.2 22.5 10.1
5= X A S AL e Lt 2 M\
75 1  (cm) 51 57 45 [> 100 63
[ 1 pH 7.0 7.1 7. 7.4 7.
o DO (mg/L){< 0.5 |< 0.5 |< 05 6.8 2.1
TE | g BOD (mg/L) 1.7 7.8 2.5 1.2 3.3
155 COD (mg/L) 7.0 11 4.8 3.9 6.7
a s SS (mg/L) 1 3 < 1 1 2
=~ & = # (mg/L) 2.32 2.68 1.51 2.44 2.24
Hl % B (mg/L)] 0.525 0.587 0.318 0.221 0.413
WAk A4~ (mg/L)| 13100 ] 12100| 15300 16200 || 14175
T [FoE=NZEf mg/L| 1.41 1.92 0.71 0.27 1.08
. dagietEEF (mg/L) < 0.01 |< 0.01 0.01 0.09 0.03
R Ee e 22 R (mg/L) 0.01 [< 0.01 0.05 1.43 0.38
o L AR M BE (mg/L)) 0476 | 0527 | 0.267 | 0.162 | 0.358
R fm B R o wyml 35600 | 32600 | 40000 | 42000 37550
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=l K i (C) 23.1 31.3 19.0 10.6
il 0, A IRF K o 0| SRkt 00| JRBRE | M ik
S X PR TR G| P TR G| B T K 5| ) e B
g % B £ (m) 1.3 1.2 1.3 2.0 1.5
75 i o (em) |> 100 |> 100 72 > 100 93
15 | pH 7.4 6.9 7.0 6.9 7.1
B - DO (mg/L)| 4.7 6.2 3.1 8.2 5.6
{m BOD me/D | 1.1 3.8 2.2 0.9 2.0
b COD (mg/L) 6.9 6.9 7.2 6.8 7.0
H |5 SS (mg/L) 1 2 1< 1 1
wl & = # (mg/L)|  9.00 6.89 8.69 10.6 8.80
1 & B (mg/L) 1.34 1.07 1.12 1.21 1.19
U2 & (mg/l) B B B B -
BRI v A (mg/L) - - - - -
|l & v 7 v (mg/L) - - - - —
FE i) (mg/L) - — - - -
T Nofli 7 v A (mg/L) - - - — -
H fitk F# (mg/L) - - - - -
& 7K $R (mg/L) — — — — -
¥r & (mg/L) - - - - -
ol B R PE 8 (ng/L) - - - - -
B I mbti~y o (mg/L) - - - - -
H v = 2 (mg/L) — — — — -
Ak ¥ A4 4~ (mg/L) 3130 2600 4490 4650 3718
z MBAS (mg/L) - - - - -
7= HEHRE (mg/L) 0.51 0.16 0.33 0.55 0.39
D g EErEZE SR (mg/L) 0.09 0.11 0.14 0.36 0.18
TR E 2 37 (mg/L) 6.82 5.71 6.80 8.62 6.99
"% m M B (mg/L)|  1.28 1.05 | 0994 | 1.10 1.11
R B E E o emyml 9610 8980 13600 13300 11373
O K TR INE INE INE =
. 7K B (C) 22.8 30.0 22.1 10.9
5 X itk 2| merioksen | R T K BB TR R
. % R B (em) > 100 42 81 68 73
B A pH 7.2 7.1 7.3 7.6 7.3
% DO (mg/L)| 2.0 1.7 2.2 8.6 3.6
I | BOD (mg/L) 2.1 3.7 1.4 1.0 2.1
5 COD (mg/L) 4.0 5.3 3.1 3.6 4.0
Al SS (mg/L) 1 6 5 1 3
i = = # (mg/L) 2.03 2.05 1.92 2.26 2.07
A % B (mg/L)| 0.511 0.350 0.194 0.140 0.299
WAk ¥ A A4~ (mg/L) 14900 14200 17000 17100 15800
< ToE=7HER (ng/L) 1.15 0.84 0.37 0.25 0.65
o s rEzEFR (mg/L) 0.04 0.08 0.05 0.09 0.07
AR E 2 37 (mg/L) 0.13 0.28 0.84 1.26 0.63
o LR M P BE (mg/D)] 0443 | 0.258 | 0.152 | 0.103 0.239
B & s 8 R oooo0] 38900 | 36500 | 42900 | 44000 40575
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o 7K % (m) 4.0 4.8 4.3 4.7
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S 52 = i = b
U " (C) 234 | 32.4 18.0 7.1
=k i (C) 23.2 31.0 19.0 11.0
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S = P E KR | kg v B | B T K B | B e
g 75 B - (m) 1.8 1.2 1.6 2.1 1.7
75 1 E o (em) |> 100 52 69 [> 100 80
15 | 4= pH 7.3 7.0 7.1 7.2 7.2
i DO (mg/L) 4.5 8.2 3.5 8.8 6.3
; BOD (mg/L) 1.1 4.2 2.1 1.2 2.2
B COD (mg/L) 6.3 8.9 6.7 7.0 7.2
H |5 SS (mg/L) 1 5 1 1 2
ml® % % (mg/D)] 17.10 6.55 6.47 8.86 7.25
1 & B (mg/L) 1.17 0.581 0.854 0.486 0.773
A% &% 4 (ng/l) - - - - -
s K X v A (mg/L) — - - - -
|l & ¥ 7 v (mg/L) - - - - -
53 pie) (ng/L) - — - - -
H |l A i 7 2 2 (mg/L) - — — - -
H fitk # (mg/L) - - - - -
& 7K $R (mg/L) - - - — —
KF & (mg/L) - - - - —
wo B M M B (ng/L) - - - - -
H it~y 1 (mg/L) - - - . .
H I~ 5 & (mg/l) B - - . .
WAk ¥ A 4~ (mg/L) 4610 5900 6970 9800 6820
Z MBAS (mg/L) - = - _ —
ToE=TMHEFZ (mg/L) 0.71 1.65 0.52 1.25 1.03
D daEfetEEFE (ng/L) 0.07 0.99 0.11 0.36 0.38
e ES (mg/L) 4.93 2.52 4.88 6.23 4.64
B ®% P % (mg/L) 1.09 0.438 0.765 0.396 0.67
R s B R o eawel 13800 | 17100 | 19700 | 25200 18950
O K TR INE INE INE =
. 7K B (C) 22.8 30.2 21.9 11.8
5= = i s s | R v I | T 7K B | It v I
. 75 R B (cm) 66 44 |> 100 [> 100 78
B A pH 74 76 74 7.7 7.5
% DO (mg/L)| 2.2 5.5 3.2 9.1 5.0
I | BOD (mg/L) 2.1 3.2 0.8 [< 0.5 1.7
- COD (mg/L) 3.9 5.1 2.3 2.7 3.5
A | SS (mg/L) 1 4 <1 3 2
i = = # (mg/L) 2.05 2.05 1.62 1.73 1.86
A % B (mg/L)| 0.592 0.243 0.135 0.074 0.261
WAk ¥ A A4~ (mg/L) 15100 13500 17600 17900 16025
< ToE=7HER (ng/L) 1.15 0.35 0.29 0.22 0.50
. i EErEZE R (mg/L) 0.03 0.15 0.04 0.07 0.07
[EI e (mg/L) 0.17 0.70 0.77 0.83 0.62
w | M BR M OBE (mg/D)] 0.511 | 0.143 | 0.112 | 0.054 || 0.205
B R fs 8 R ogen] 39900 | 36200 | 44600 | 45700 41600
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30 HEAB (A/B) 5/30 7/18 10/24 1/23 o
T i AL (B 5)) 9:05 11:15 8:50 10:45 | ¥y
. S A E B gy Bk B
2 7K % (m) 3.7 3.6 3.9 4.0
] B I K ) =g B )
B PN (5 = i = &
I " (C) 23.0 31.0 17.0 9.1
et I H_(C) 24.2 32.8 22.3 14.2
- 0, 115 IRF St £, | ISt £ | IRF PR i 0, | IF Bk (0
S = P AR | B R AR B R KRR | 8 F K R
g 7 Fj] B (m) 2.5 1.1 1.6 1.3 1.6
% 5 - (cm) 93 54 65 |> 100 78
15 | A= pH 7.5 7.1 7.0 7.0 7.2
. DO (mg/L) 3.9 7.9 4.2 7.9 6.0
i BOD (mg/L) - - - - -
BR COD (mg/L) 9.8 11 7.1 9.1 9.3
H |55 SS (mg/L) 1 4 | <1 2
w2 = # (mg/L)|  13.0 12.4 11.8 14.0 12.8
I B (mg/L)|  0.349 0.742 0.503 0.412 0.502
A% & (me/L) . . . . .
B K X v A (mg/L) - - - - -
|l & ¥ 7 v (mg/L) — — — - —
JE ) (mg/L) - — - - -
Hol S fli 7 v 2 (mg/L) - - — _ _
Bt # (mg/L) - - - - -
o 7K #R - (mg/L) = - . _ _
¥ & (mg/L) - - - - -
ol B M B (mg/L) - - - - -
Bt~y 7 (mg/L) . . . . -
H v = 2 (mg/L) - — = — -
WAt W A 4 > (mg/L) 5340 4970 8310 6230 6213
z MBAS (mg/L) - = _ n _
TUoE=TEESE (mg/L) 5.47 5.42 1.83 3.54 4.07
%) dpEfetE=EFE (mg/L) 1.51 2.21 0.13 0.59 1.11
et R (mg/L) 3.78 2.97 8.61 8.29 5.91
M 7% w P % (me/L)| 0223 | 0601 | 0424 | 0292 || 0.385
E K fn B OE o wsml 16000 15500 | 22400 18100 18000
PR KR T | T TE | TH
. 7K W (C) 23.2 29.8 23.0 13.9
5 = T AR | etk s | BT K R | ok v B
N % 5 o (cm) > 100 41 62 71 69
e | e bH 7.4 7.1 7.3 75 7.5
T DO (mg/L)| 2.1 5.4 2.0 8.1 4.4
T | g BOD (mg/L) - - - - -
5 COD (mg/L) 4.3 6.0 3.4 4.0 4.4
o SS (mg/L) 3 7 2 3 4
=~ & = F# (mg/L) 2.41 2.23 3.66 3.93 3.06
Hl 4 B (mg/L)] 0.397 0.252 0.236 0.179 0.266
Wik A4 A4 >~ (mg/L) 14900 13300 15200 16000 14850
< Tor=TEEFE (mg/L) 0.87 0.36 0.70 1.27 0.80
5 diEietEEFR (mg/L) 0.11 0.16 0.06 0.17 0.13
e le e % 3 (mg/L) 0.18 0.69 2.50 2.06 1.36
i L Be M OBE (mg/D)| 0307 | 0.137 | 0.199 0.110 0.188
A B E oaaea 39200 | 34700 | 40200 41500 38900
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30 HEAB (A/B) 5/30 7/18 10/24 1/23 o
T i AL (B 5)) 9:45 11:50 9:35 11:25 | 3y
. (S L A E AR | MR O | MR O | AR O
2 7K % (m) 3.9 4.6 4.2 4.0
] B I K ) =g B )
B PN (5 = i = &
I " (C) 23.3 35.9 17.2 9.2
et I H_(C) 23.8 32.0 19.9 11.4
- 0, +H IR Hk 18 £, ﬁ%{ﬁ%%%@ [EEE) H%;ﬁ?@vé
LR = P K | P e b | B KR | g e
g 7 Fj] B (m) 1.9 0.9 1.8 1.7 1.6
% 5 B2 (ecm) > 100 44 94 |> 100 85
15 | A= pH 7.6 7.2 7.1 7.2 7.3
. DO (mg/L) 4.7 8.7 3.7 8.4 6.4
i BOD (mg/L) - - - - -
BR COD (mg/L) 7.3 8.9 6.7 7.0 7.5
H |55 SS (mg/L) 1 5 2 <1 2
w2 = # (mg/L)|  8.62 6.98 8.32 9.67 8.40
I B (mg/L)|  0.891 0.700 0.918 0.510 0.755
A% & (me/L) . . . . .
B K X v A (mg/L) - - - - -
|l & ¥ 7 v (mg/L) — — — - —
JE ) (mg/L) - — - - -
Hol S fli 7 v 2 (mg/L) - - — _ _
Bt # (mg/L) - - - - -
o 7K #R - (mg/L) = - . _ _
¥ & (mg/L) - - - - -
ol B M B (mg/L) - - - - -
Bt~y 7 (mg/L) . . . . -
H v = 2 (mg/L) - — = — -
WAt W A 4 > (mg/L) 4990 6110 5940 8710 6438
z MBAS (mg/L) - - _ n _
TUoE=TEESE (mg/L) 2.09 2.10 0.55 1.91 1.66
%) dpEfetE=EFE (mg/L) 0.48 0.97 0.14 0.40 0.50
et R (mg/L) 4.68 2.71 6.52 6.50 5.10
i 7% mw P %% (me/L)| 0810 | 0548 | 0829 | 0455 | 0.661
E K fm B OE o wsel 14900 17200 17000 23800 18225
PR KR T | TR TE | TH
. 7K W (C) 23.1 30.8 21.9 12.0
5 = fifbok 38 B iAoz s BT K R | Bk s
N % 5 E (cm) 47 40 > 100 [> 100 72
e | e bH 7.4 7.4 7.4 7.1 7.5
T DO (mg/L) 1.3 1.7 2.9 9.0 3.7
T | g BOD (mg/L) - - - - -
5 COD (mg/L) 3.8 5.0 2.1 2.6 3.4
A |5 SS (mg/L) 1 4 < 1 3 2
=~ & = F# (mg/L) 1.98 1.57 1.72 1.80 1.77
Hl 4 B (mg/L)] 0.622 0.287 0.142 0.095 0.287
Wik A4 A4 >~ (mg/L) 15600 | 15800 17400 17500 16575
< Tor=TEEFE (mg/L) 1.15 0.75 0.36 0.26 0.63
5 diEietEEFR (mg/L) 0.02 0.06 0.04 0.08 0.05
e le e % 3 (mg/L) 0.05 0.18 0.79 0.93 0.49
i LB Be M BE (mg/)| 0558 | 0.204 | 0.120 0.063 0.236
A B8 E oaaeal 40400 | 40300 | 44400 45300 42600
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30 HEHAR (H/H) 5/30 7/18 10/24 1/23 O
AR FHATREZ]  (KF:47) 10:40 12:50 10:20 12:25 B
- S A % SR SR SR JERE
o 7K % (m) 4.6 5.0 5.0 4.8
gl & B ok B e FJE 7<) =&
S 52 E i = i
U 5 (C) 241 34,1 18.0 9.0
=k i (C) 22.7 29.7 20.8 11.6
s @, A H%{ﬁ%’r%@ H%{ﬁ%’f%@ H%W@@ H%{I*ﬁ%@
S = i e R | i e R | i e R | Bt e R
g 75 B - (m) 2.4 0.9 3.5 1.6 2.1
75 1 E o (em) |> 100 34 |> 100 [> 100 84
17 | A= pH 7.8 8.4 7.4 7.8 7.9
, DO (mg/L) 5.8 11.0 4.7 9.4 7.7
1 BOD (mg/L) - - - - -
BR COD (mg/L) 5.2 7.4 3.1 2.4 4.5
H |5 SS (mg/L) 1 10 1 2 4
mlL 2 = % (mg/L) 3.58 2.10 3.40 2.14 2.81
1 & B (mg/L)] 0.289 0.223 0.192 0.088 0.198
HIm = i £ (mg/L) 0.01 0.01 0.01 0.01 0.01
1K X v A (mg/L)[< 0.001 [< 0.001 [< 0.001 |< 0.001 < 0.001
el & ¥ 7 v (mg/L)J< 0.1 |< 0.1 < 0.1 [< 0.1 J[< 0.1
53 pie) (mg/L) < 0.005 |< 0.005 |< 0.005 [< 0.005 [[< 0.005
Wl N i 7 v A (mg/L) < 0.02 [< 0.02 [< 0.02 [< 0.02 [[< 0.02
H filk # (mg/L) < 0.005 |< 0.005 [< 0.005 [< 0.005 |[< 0.005
“ 7K $R (mg/L) |[< 0.0005[< 0.0005 |< 0.0005|< 0.0005[< 0.0005
K B (mg/L) J< 0.02 |< 0.02 |< 0.02 [< 0.02 [[< 0.02
wol M M B mg/D] 005 [< 005 [< 005 [< 005 < 0.05
I vt~ 5o (mg/L) 0.03 |< 0.02 0.02 < 0.02 0.02
H Vi = 2 (mg/L) [< 0.02 |[< 0.02 [< 0.02 [< 0.02 |[< 0.02
WAL W A4 A4 0 (mg/L) 12600 | 13200 15400 17500 14675
z MBAS (mg/L) 0.02 0.03 [< 0.02 [< 0.02 0.02
ToE=TMHEFZ (mg/L) 1.13 0.06 0.43 0.34 0.49
D daEfetEEFE (ng/L) 0.25 0.13 0.07 0.09 0.14
TEFRIEEE 32 (mg/L) 1.01 0.64 2.00 1.12 1.19
i "B # % %% (me/L)| 0195 | 0.066 | 0.160 | 0.060 | 0.120
R s B OE (o el 34800 | 35300 | 40600 | 44800 38875
BOE K B )= INE] INE INE]
. 7K H(C) 21.0 28.5 21.6 10.8
R = Pt a R | Pt e R | Pt e R | i e R
. 75 i - (cm) 63 24 |> 100 [> 100 72
[ 1 pH 76 7.9 7.6 7.8 7.7
i DO (mg/L)] 4.0 4.5 3.5 9.3 5.3
T | BOD (mg/L) — — — - -
i COD (mg/L) 4.2 5.2 2.2 2.3 3.5
A |5 SS (mg/L) 8 16 9 4 9
=~ & = F% (mg/L) 2.35 1.59 1.25 1.26 1.61
Al % B (mg/L)| 0.213 0.184 0.115 0.059 0.143
WAk WA 4~ (mg/L) 15000 [ 15400 17900 18200 16625
< ToE=THER (mg/L) 0.60 0.25 0.18 0.14 0.29
o fgierE=%E (mg/L) 0.12 0.07 0.03 0.06 0.07
[ ES (ng/L) 0.65 0.43 0.55 0.50 0.53
i LB M M PR (me/L)] 0.146 | 0.102 | 0.089 | 0.039 0.094
B A s 8 R (ogenl 40000 | 39600 | 46600 | 46700 43225
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S 15114 wirs | 2| b IS
30 HEAB (A/B) 5/29 7/17 10/23 1/22 o
E AR (K 4)) 7:00 7:50 6:20 7:00 ¥
. (S L A E il it il Pt
2 7K % (m) 2.5 3.0 2.1 3.0
] B I K ) =g B )
B PN (5 = i = &
I " (C) 2.8 33.2 15.3 5.0
et I H_(C) 21.8 28.1 18.1 9.2
- 0, iE! @%{ﬁ%%%@ IG5 fe 1 £ | IRE K e i | PRk A
LR = R R P KRR PAKE Ji: 5L
gl W B (m) 0.9 1.5 0.9 1.8 1.3
% 5 - (cm) 36 47 > 100 |> 100 71
15 | A= pH 7.0 7.4 7.5 7.5 7.4
- DO (mg/L) 5.3 5.5 6.4 9.3 6.6
" BOD (mg/L) 6.5 2.2 2.1 0.5 2.8
B COD (mg/L) 7.2 4.5 3.7 2.0 4.4
H |55 SS (mg/L) 6 3 1 <1 3
w2 £ #% (mg/L) 1.78 3.03 4.00 3.87 3.17
I B (mg/L)|  0.242 0.143 0.049 0.015 0.112
HI =% i) $n (mg/L) 0.01 0.01 |< 0.01 [< 0.01 0.01
J1 K X v A (mg/L) < 0.001 [< 0.001 [< 0.001 |< 0.001 |[< 0.001
el & ¥ 7 v (mg/L)J< 0.1 [< 0.1 [< 0.1 |< 0.1 [[< 0.1
53 it (mg/L) < 0.005 [< 0.005 |< 0.005 |< 0.005 [[< 0.005
1] Nl 7om A (mg/L) < 0.02 [< 0.02 [< 0.02 [< 0.02 [[< 0.02
H fitt F  (mg/L) |< 0.005 |[< 0.005 |< 0.005 |< 0.005 [[< 0.005
o 7K $R (mg/L) |< 0.0005|< 0.0005 [< 0.0005[< 0.0005/< 0.0005
K5 ki (mg/L) < 0.02 [< 0.02 |< 0.02 |< 0.02 [[< 0.02
w8 (mg/L) 0.09 [< 0.05 [< 0.05 [< 0.05 0.06
I§ BRI~ (mg/L) 0.16 0.05 0.06 0.14 0.10
v = A (mg/L) < 0.02 [< 0.02 [< 0.02 |[< 0.02 [[< 0.02
WAt W A 4 > (mg/L) 9150 6310 2520 2230 5053
z MBAS (mg/L) 0.02 [< 0.02 0.02 [< 0.02 0.02
TUoE=TEESE (mg/L) 0.12 0.29 0.06 |< 0.01 0.12
%) dpEfetE=EFE (mg/L) 0.10 0.04 0.02 0.02 0.05
et R (mg/L) 0.36 2.11 3.42 3.77 2.42
M 7% w P %% (me/L)| 0076 | 0.080 | 0023 | 0010 | 0.047
E K fm B OE o wwml 25800 18600 7260 6970 14658
PR KR T | TR TE | T
- 7K W (C) 22.8 29.8 21.1 9.8
5 = stk | Bk 38 B ek | TKR
N % 5 E (cm) 31 17 19 53 30
[ 4 T 6.9 6.8 6.7 7.5 7.0
T DO (mg/L)J< 05 < 05 [< 0.5 8.7 2.6
T | g BOD (mg/L) 8.3 5.6 12 2.1 7.0
5 COD (mg/L) 7.7 8.6 7.7 2.4 6.6
o SS (mg/L) 5 6 3 2 4
=~ & = F# (mg/L) 2.78 2.82 2.63 2.61 2.71
Hl 4 # (mg/L)] 0.439 0.448 0.393 0.144 0.356
Wik A4 A4 >~ (mg/L) 14400 | 14200 15000 15700 14825
< Tor=TEEFE (mg/L) 1.59 1.65 1.03 0.44 1.18
5 dpEietEzEFR (mg/L) J< 0.01 |< 0.01 [< 0.01 0.06 0.02
e le e % 3 (mg/L) 0.01 0.01 0.01 1.05 0.27
i L Be M OBE (mg/D)| 0278 | 0.324 | 0.190 0.085 0.219
A B8 E ol 38100 | 36700 | 38500 41300 38650




W8 M 54 AKigs | )14 Fa HIE A 44
I\
g STl $oEs || © OIITES
30 HEAB (A/B) 5/29 7/17 10/23 1/22 o
FEJE AR (K 4)) 7:40 9:10 9:40 8:35 ¥
5 2 S VA - ¥ T | T st | Tt | T SO,
2 7K % (m) 1.5 1.9 1.0 2.1
] B I K ) =g B )
B PN (5 = i = &
I " (C) 22,1 34.5 15.3 3.8
et I H_(C) 22.8 29.8 18.7 6.6
- 0, {H 7’@2%%@ ﬁ%{ﬁ%%%é K ke | KRk
LR = Pt R | e R TOKE | KR
g 7 Fj] o (m) > 1.5 1.0 0.7 2.0 1.3
% 5 - (cm) 44 50 80 |> 100 69
15 | A= pH 7.3 7.4 7.3 7.5 7.4
. DO (mg/L) 7.7 5.9 4.4 10.0 7.0
i BOD (mg/L) - - - - -
BR COD (mg/L) 5.9 5.6 4.4 2.4 4.6
H |55 SS (mg/L) 6 5 < 1 <1 3
w2 = # (mg/L) | 2.77 2.54 3.54 3.20 3.01
I B (mg/L)| 0.355 0.215 0.163 0.155 0.222
A% & (me/L) . . . . .
B K X v A (mg/L) - - - - -
|l & ¥ 7 v (mg/L) — — — - —
JE ) (mg/L) - — - - -
Hol S fli 7 v 2 (mg/L) - - — _ _
Bt # (mg/L) - - - - -
o 7K #R - (mg/L) = - . _ _
¥ & (mg/L) - - - - -
ol B M B (mg/L) - - - - -
Bt~y 7 (mg/L) - . . . -
H v = 2 (mg/L) — — = - -
WAt W A 4 > (mg/L) 10900 9230 5480 10700 9078
z MBAS (mg/L) - = _ _ _
TUoE=TEESE (mg/L) 0.35 0.29 0.37 0.25 0.32
%) dpEfetE=EFE (mg/L) 0.10 0.06 0.04 0.05 0.06
et R (mg/L) 0.55 1.26 2.30 2.56 1.67
M 7% w P& %% (mg/L)| 0231 | 0.107 | 0084 | 0129 || 0.138
E K 5 B OE ol 30200 [ 25900 15300 28600 25000
PR KR T | TR T | T
- 7K W (C) 23.2 31.0 20.0 8.0
R = il ok 36 5| ffiflk 3 5L bk 38 5| B R K R
N % 5 E (cm) 51 28 65 |> 100 61
e | e bH 7.2 7.1 7.2 7.6 7.3
T DO (mg/L)| 58 [< 05 2.4 8.7 4.4
T | g BOD (mg/L) - - - - -
5 COD (mg/L) 5.7 6.7 4.4 2.8 4.9
o SS (mg/L) 7 6 2 1 4
=~ & = F# (mg/L) 2.74 2.17 2.93 1.94 2.45
Hl 4 B (mg/L)] 0.387 0.352 0.263 0.133 0.284
Wik A4 A4 >~ (mg/L) 12300 | 13800 10500 16800 13350
< Tor=TEEFE (mg/L) 0.63 0.79 0.57 0.33 0.58
5 diEietEEFR (mg/L) 0.09 0.07 0.05 0.06 0.07
e le e % 3 (mg/L) 0.46 0.31 1.51 0.95 0.81
i L Be M OBE (mg/D)| 0267 | 0.210 | 0.189 0.086 0.188
A B E oaaea 33100 | 36800 | 26600 43600 35025




W8 M 54 AKigs | )14 Fa HIE A 44
I\
S JEE ] 1 FOU | BskiEn| C Sl
30 HEAB (A/B) 5/29 7/17 10/23 1/22 o
I JiE AL (R 4)) 9:00 10:00 9:10 7:55 s
- (S L A E HetEl | HetEhs | teiEhs | e
2 7K % (m) 2.7 3.4 1.5 3.7
] B I K ) =g B )
B PN (5 = i 8] &
I " (C) 24.2 34.5 13.9 3.8
et I H_(C) 23.5 31.2 17.3 7.0
- 0, {H RS ﬁ%{ﬁ%%%@ K ke | KRk
S = bk s | I v b | IR KR | i B K R
g 7 Fj] B (m) 2.5 1.2 0.9 2.3 1.7
% 5 - (cm) 66 28 |> 100 |> 100 74
15 | A= pH 7.4 7.8 7.3 7.5 7.5
. DO (mg/L) 7.0 10.0 4.5 9.6 7.8
i BOD (mg/L) - - - - -
BR COD (mg/L) 5.3 6.3 4.4 2.7 4.7
H |55 SS (mg/L) 5 5 1 <1 3
w2 = # (mg/L)| 281 1.88 3.19 3.11 2.75
I B (mg/L)| 0.381 0.261 0.252 0.204 0.275
A% & (me/L) . . . . .
B K X v A (mg/L) - - - - -
|l & ¥ 7 v (mg/L) — — — - —
JE ) (mg/L) - — - - -
Hol oS ffi 2 2 & (mg/L) - - - — —
H fitk % (mg/L) ~ - - - -
i 7K R (mg/L) - — - — =
¥ & (mg/L) - - - - -
ol B M B (mg/L) - - - - -
Bt~y 7 (mg/L) - . . . -
H v = 2 (mg/L) — — = - -
WAt W A 4 > (mg/L) 11000 | 13100 8910 13200 11553
z MBAS (mg/L) - = _ _ _
TUoE=TEESE (mg/L) 0.37 0.21 0.88 0.29 0.44
%) dpEfetE=EFE (mg/L) 0.10 0.11 0.08 0.05 0.09
et R (mg/L) 0.62 0.65 1.33 2.24 1.21
7% ® P %% (mg/L)| 0272 | 0.140 | 0204 | 0.161 | 0.194
E K 5 B OFE 0wl 31500 | 35300 [ 23700 35800 31575
PR KR T | TR T | T
. 7K W (C) 23.2 29.9 20.4 10.5
R = Fidb k8 | Bife kR BT AKE | FAKERE
N % 5 E (cm) 60 35 65 72 58
e | e bH 7.5 7.0 7.2 7.6 7.3
T DO (mg/L) 1.7_|<_ 0.5 2.8 7.5 3.1
T | g BOD (mg/L) - - - - -
5 COD (mg/L) 4.7 7.2 4.8 2.9 4.9
A |5 SS (mg/L) 5 2 < 1 2 3
=~ & = F# (mg/L) 2.24 2.31 2.40 1.71 2.17
Hl 4 B (mg/L)| 0.331 0.380 0.281 0.128 0.280
Wik A4 A4 >~ (mg/L) 14600 | 15400 12500 17600 15025
< Tor=TEEFE (mg/L) 0.76 1.47 0.91 0.31 0.86
5 diEietEEFR (mg/L) 0.05 |< 0.01 0.05 0.05 0.04
e le e % 3 (mg/L) 0.12 |< 0.01 0.60 0.78 0.38
i | Be M OB (me/L)| 0209 | 0.286 | 0.218 0.069 0.196
A B E oaaea 38900 | 40100 | 32400 45100 39125




W8 M 54 AKigs | )14 Fa HIE A 44
I\
g N $oEs || © 1%
30 HEAB (A/B) 5/29 7/17 10/23 1/22 o
A FHATREZ] (KF:47) 9:40 10:50 8:25 9:25 B
: SR A B | Bk ] B BHk
Bl 2 7K % (m) 4.3 5.3 4.9 4.2
] B I K ) =g B )
B PN (5 = i 8] &
I " (C) 26.0 34.7 14.3 7.8
et I H_(C) 24.0 32.1 18.8 9.2
- 0, +H H%{ﬁ%%%’é ﬁ%{ﬁ%%%é IR Hk 18 £, H%;ﬁ?ﬁ%’é
LR = D e L | P e B | B KR | g e
g 7 Fj] B (m) 1.3 0.8 1.7 2.2 1.5
% 5 - (cm) 55 20 67 |> 100 61
15 | A= pH 7.8 8.4 7.2 7.6 7.8
. DO (mg/L) 11.1 15.0 6.0 9.7 10.5
i BOD (mg/L) - - - - -
BR COD (mg/L) 6.0 7.6 4.3 2.6 5.1
H |55 SS (mg/L) 4 12 2 2 5
w2 £ # (mg/L)|  3.03 1.97 3.04 2.41 2.61
I B (mg/L)|  0.386 0.269 0.315 0.162 0.283
A% & (me/L) . . . . .
B K X v A (mg/L) - - - - -
|l & ¥ 7 v (mg/L) — — — - —
JE ) (mg/L) - — - - —
Hol S fli 7 v 2 (mg/L) - - — _ _
H fitk % (mg/L) ~ - - - -
i 7K R (mg/L) - — - — —
¥ & (mg/L) - - - - -
ol B M B (mg/L) - - - - -
Bt~y 7 (mg/L) . . . . B
H v = 2 (mg/L) - — = — =
WAt W A 4 > (mg/L) 11600 | 13200 12100 15800 13175
z MBAS (mg/L) - - - - -
TUoE=TEESE (mg/L) 0.05 0.06 0.68 0.22 0.25
%) dpEfetE=EFE (mg/L) 0.10 0.09 0.07 0.06 0.08
et R (mg/L) 0.88 0.40 1.54 1.49 1.08
7% w P& %% (me/L)| 0276 | 0.078 | 0280 | 0.127 || 0.190
E K 5 B OE ol 32900 | 35700 [ 31900 41600 35525
PR KR T | T T | TH
- 7K W (C) 22.5 30.3 19.8 10.4
5 = sk s | P TE B | IR T K B | D v b
N % 5 E (cm) 54 47 75 68 61
[ 4 T 7.6 7.6 7.3 7.7 7.6
T DO (mg/L)[< 0.5 2.6 2.0 8.8 3.5
T | g BOD (mg/L) - - - - -
5 COD (mg/L) 4.1 3.8 2.9 2.6 3.4
o SS (mg/L) 4 5 1 6 4
=~ & = F# (mg/L) 2.12 1.47 1.50 1.70 1.70
Hl 4 B (mg/L)] 0.393 0.211 0.144 0.114 0.216
Wik A4 A4 >~ (mg/L) 15900 | 16800 17100 17500 16825
< Tor=TEEFE (mg/L) 1.33 0.50 0.34 0.19 0.59
5 fEiErE=E®R (mg/L) [< 0.01 0.07 0.03 0.06 0.04
e le e % 3 (mg/L) < 0.01 0.29 0.51 0.93 0.44
i | Be M OB (me/L)| 0326 | 0.156 | 0.115 0.074 0.168
E A B8 E el 41800 | 42800 | 42800 44600 43000




W E 54 AKigs | )4 FA HIE TR 44
JAN
Tk b5 e A WA | U C NS
30 HEAB (A/H) 5/29 7/17 10/23 1/22 O
T IR AR (B 59) 10:25 | 11:30 | 7:30 10:15 | %
- S VA E B B B B
o 7K % (m) 4.0 4.8 4.8 5.0
gl & B ok B e FJE 7<) =&
.| K 52 i i = i
e - (C) 98.7 33.2 15.4 8.5
wlok i (C) 24.2 30.6 17.7 10.1
i 0, A FRtB o | IR RtE (0| kil fo | F ik o
e ] X P e S | g e B | fig e L | e L
g % B £ (m) 1.4 0.7 1.7 1.9 1.4
75 i E  (cm) 46 22 78 |[> 100 62
15 | pH 7.9 8.3 7.3 7.7 7.8
. DO (mg/L)| 10.9 13.0 7.9 10.0 10.5
i BOD (mg/L) - - - - -
B COD (mg/L) 5.4 7.6 4.3 3.7 5.3
H |5 SS (mg/L) 5 11 1 1 5
wl & = % (mg/L)|  2.97 2.26 3.31 2.49 2.76
1 & B (mg/L)| 0.351 0.269 0.327 0.193 0.285
HI =% i #h (mg/L) 0.01 0.01 0.01 0.01 0.01
1K 2 v A (mg/L)[< 0.001 [< 0.001 [< 0.001 ]< 0.001 < 0.001
el & ¥ 7 v (mg/L)J< 0.1 |< 0.1 < 0.1 [< 0.1 J< 0.1
FE i) (mg/L) < 0.005 |< 0.005 |< 0.005 [< 0.005 [[< 0.005
Wl oS i 7 v o (mg/L) < 0.02 [< 0.02 [< 0.02 [< 0.02 [< 0.02
H fitk F (mg/L) |< 0.005 |< 0.005 [< 0.005 |< 0.005 |[< 0.005
@ 7K $E (mg/L) < 0.0005[< 0.0005 |< 0.0005[< 0.0005[< 0.0005
r & (mg/L) [<_ 0.02 |< 0.02 [< 0.02 |< 0.02 [|[< 0.02
wol e M # (mg/L) < 0.05 [< 0.05 [< 0.05 [< 0.05 [[< 0.05
B Twamti~r 7> (ng/L) 0.02 |< 0.02 |< 0.02 [< 0.02 0.02
H 7 = 2 (mg/L) [< 0.02 [< 0.02 [< 0.02 [< 0.02 |[< 0.02
Ak ¥ A4 4~ (mg/L) 12100 [ 12900 12400 16000 13350
Fa MBAS (mg/L) |<_0.02 0.03 0.02 0.02 0.02
ToE=THER (mg/L) 0.10 0.19 0.38 0.18 0.21
D g EErEZE SR (mg/L) 0.11 0.15 0.06 0.06 0.10
(EI e (mg/L) 0.88 0.70 2.21 1.71 1.38
i " e T % (me/L)| 0250 | 0.099 | 0290 | 0.149 | 0.197
R s B R o avel 34400 | 35200 | 32300 | 41700 35900
B oK OB T)E T)E INE =
. 7K B (C) 23.3 28.7 19.5 10.9
= X P e R | P e R | D e | e R
. 75 R B (cm) 47 64 94 70 69
B A pH 7.9 7.7 7.3 7.8 7.7
T DO (mg/L)| 4.7 2.8 2.8 9.0 4.8
TH g BOD (mg/L) - - _ _ —
- COD (mg/L) 3.6 3.7 2.6 2.6 3.1
Al SS (mg/L) 3 18 2 7 8
i = = # (mg/L) 1.87 1.33 1.32 1.54 1.52
A % B (mg/L)] 0.206 0.185 0.129 0.103 0.156
WAL W A4 A4 0 (mg/L) 15800 [ 16600 17300 17500 16800
< ToE=7HER (ng/L) 0.50 0.39 0.31 0.14 0.34
. s rEzEFR (mg/L) 0.07 0.06 0.02 0.05 0.05
[EI e (mg/L) 0.21 0.35 0.51 0.80 0.47
o LR M P BE (mg/D)] 0.152 | 0.134 | 0.109 | 0.065 0.115
B A s 8 R (ogenl 41300 | 42300 | 43700 | 45600 43225




